
Интерполяционный многочлен Ньютона 

𝒇(𝒙) = 𝒙𝟑 + 𝟏 

𝑥0 = 0 𝑓0 = 1 𝑓(𝑥0; 𝑥1)

=
𝑓1 − 𝑓0

𝑥1 − 𝑥0
= 1 

𝑓(𝑥0; 𝑥1; 𝑥2)

=
𝑓(𝑥1; 𝑥2) − 𝑓(𝑥0; 𝑥1)

𝑥2 − 𝑥0

=
7 − 1

2 − 0
= 3 

𝑓(𝑥0; 𝑥1; 𝑥2; 𝑥3)

=
6 − 3

3
= 1 

𝑥1 = 1 𝑓1 = 2 𝑓(𝑥1; 𝑥2)

=
𝑓2 − 𝑓1

𝑥2 − 𝑥1
= 7 

𝑓(𝑥1; 𝑥2; 𝑥3) =
19 − 7

3 − 1
= 6 

 

𝑥2 = 2 𝑓2 = 9 𝑓(𝑥2; 𝑥3) = 19   

𝑥3 = 3 𝑓3 = 28    
𝑁3(𝑥) = 𝑓(𝑥0) + 𝑓(𝑥0; 𝑥1)(𝑥 − 𝑥0) + 𝑓(𝑥0; 𝑥1; 𝑥2)(𝑥 − 𝑥0)(𝑥 − 𝑥1)

+ 𝑓(𝑥0; 𝑥1; 𝑥2; 𝑥3)(𝑥 − 𝑥0)(𝑥 − 𝑥1)(𝑥 − 𝑥2)

= 1 + 1(𝑥 − 0) + 3(𝑥 − 0)(𝑥 − 1) + 1(𝑥 − 0)(𝑥 − 1)(𝑥 − 2) = 

𝑁3(𝑥) = 1 + 𝑥 + 3𝑥2 − 3𝑥 + 𝑥3 − 3𝑥2 + 2𝑥 = 𝑥3 + 1   

Многочлен Эрмита 

𝒙𝟏 = 𝟏 𝒙𝟐 = 𝟐 𝒙𝟑 = 𝟑 
𝒇𝟏 = 𝟐 𝒇𝟐 = 𝟗 𝒇𝟑 = 𝟐𝟖 

𝒅𝒇𝟏 = 𝟑   

   

Решение 

𝒙𝟎
𝜺 = 𝒙𝟏 + 𝜺 𝒙𝟏 = 𝟏 𝒙𝟐 = 𝟐 𝒙𝟑 = 𝟑 

𝒇𝟎
𝜺  𝒇𝟏 = 𝟐 𝒇𝟐 = 𝟗 𝒇𝟑 = 𝟐𝟖 
 𝒅𝒇𝟏 = 𝟑   

 

𝑥0 

= 1 + 𝜀 
𝑓0

𝜀 
𝑓(𝑥0

𝜀; 𝑥1) =
𝑓1 − 𝑓0

𝜀

𝑥1 − 𝑥0
𝜀

=
𝑓(𝑥1) − 𝑓(𝑥1 + 𝜀)

𝜀
= 𝑑𝑓1 = 3 

𝑓(𝑥0
𝜀; 𝑥1; 𝑥2)

=
𝑓(𝑥1; 𝑥2) − 𝑓(𝑥0

𝜀; 𝑥1)

𝑥2 − 𝑥0
𝜀

=
7 − 3

2 − 1
= 4 

𝑓(𝑥0
𝜀; 𝑥1; 𝑥2; 𝑥3)

=
6 − 4

2
= 1 

𝑥1 = 1 𝑓1 = 2 
𝑓(𝑥1; 𝑥2) =

𝑓2 − 𝑓1

𝑥2 − 𝑥1

= 7 

𝑓(𝑥1; 𝑥2; 𝑥3) =
19 − 7

3 − 1
= 6 

 

𝑥2 = 2 𝑓2 = 9 𝑓(𝑥2; 𝑥3) = 19   

𝑥3 = 3 𝑓3 = 28    

𝑁3(𝑥) = 𝑓(𝑥0
𝜀) + 𝑓(𝑥0

𝜀; 𝑥1)(𝑥 − 𝑥0
𝜀) + 𝑓(𝑥0

𝜀; 𝑥1; 𝑥2)(𝑥 − 𝑥0
𝜀)(𝑥 − 𝑥1)

+ 𝑓(𝑥0
𝜀; 𝑥1; 𝑥2; 𝑥3)(𝑥 − 𝑥0

𝜀)(𝑥 − 𝑥1)(𝑥 − 𝑥2) 

𝑵𝟑(𝒙) = 𝒇𝟏 + 𝒇(𝒙𝟏; 𝒙𝟏)(𝒙 − 𝒙𝟏) + 𝒇(𝒙𝟏; 𝒙𝟏; 𝒙𝟐)(𝒙 − 𝒙𝟏)𝟐 + 𝒇(𝒙𝟏; 𝒙𝟏; 𝒙𝟐; 𝒙𝟑)(𝒙 − 𝒙𝟏)𝟐(𝒙 − 𝒙𝟐) = 

𝑵𝟑(𝒙) = 𝟐 + 𝟑(𝒙 − 𝟏) + 𝟒(𝒙 − 𝟏)𝟐 + 𝟏(𝒙 − 𝟏)𝟐(𝒙 − 𝟐)

= 𝟐 + 𝟑𝒙 − 𝟑 + 𝟒𝒙𝟐 − 𝟖𝒙 + 𝟒 + (𝒙𝟐 − 𝟐𝒙 + 𝟏)(𝒙 − 𝟐) = 𝒙𝟑 + 𝟏  

 


